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6. X A1}(2013.08.28)
A E _ _ _ Higs S 2 ENM =1}
_I?_E H Egl ox ;glAa_E_ c>|_._| o -1 o O
= ws | 59 A =) min) ) Har) | o=
HENEERER
#1 10:00 ~ 10:40 10.33 411.82 0.0053 o|at
2 He 1m oLy
7| 20X H S
#2 10:02 ~ 10:42 10.37 406.61 0.0055 o|at
2 He 1m oLy
7| S0 A& S
#3 10:05 ~ 10:45 10.35 412.62 0.0049 o|at
2 H2El 1m ol
7| S0 A& S
#4 10:07 ~ 10:47 10.31 411.02 0.0047 o|at
2 H2El 1m ol
7| S0k X|H S
#5 10:10 ~ 10:50 10.34 412 .22 0.0046 o|at
2 H2El 1m ol
7| S0 X|H S
#6 11:00 ~ 11:40 10.32 450.60 0.0043 o|at
2 HEl 1m ol
7| S0k X|H S
#7 11:05 ~ 11:45 10.35 409.87 0.0053 o|at
2 HEl 1m ol
7| S0k X|H S
#8 11:09 ~ 11:49 10.34 409.48 0.0050 o|at
2 HEl 1m ol
7| S0k X|H S
#9 11113 ~ 11:53 10.34 409.48 0.0051 o|at
2 He 1m oLy
FRENEERER
#10 11:15 ~ 11:55 10.32 408.69 0.0053 o|at
2 He 1m oLy
_ 7| 20X S
H7|= #11 o 12:00 ~ 12:40 10.33 406.38 0.0054 o|at
oFE x| & 2 2E 1m o|uf
ooE 7| 20X S
(22point)| #12 12:01 ~ 12:41 10.34 406.77 0.0047 o|at
2 25 1m o|Lf
7| 20X H S
#13 12:05 ~ 12:45 10.32 405.99 0.0045 o|at
2 25 1m o|Lf
7| 20X H S
#14 12:09 ~ 12:49 10.35 407 .17 0.0053 o|at
2 HE 1m oLy
7| 20X S
#15 12:11 ~ 12:51 10.35 407 .17 0.0055 o|at
2 H2El 1m ol
7| 20X &S
#16 13:00 ~ 13:40 10.32 404 .65 0.0052 o|at
2 HEl 1m ol
7| S0 X|H S
#17 13:05 ~ 13:45 10.36 406.22 0.0050 o|at
2 H2El 1m ol
7| S0k X|H S
#18 13:08 ~ 13:48 10.32 404 .65 0.0047 o|2t
2 HEl 1m ol
7| S0k X|H S
#19 13:10 ~ 13:50 10.34 405.44 0.0048 o|at
2 HEl 1m ol
7| S0 X|H S
#20 13:15 ~ 13:55 10.31 404.26 0.0050 o|at
2 HEl 1m ol
7| S0 X|H S
#21 14:00 ~ 14:40 10.37 406.61 0.0053 o|at

2 Be 1m oLy

RN EERER
#22 14:05 ~ 14:45 10.32 404.65 0.0046 o|at

2 2E 1m o|Lf
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7. £X4Z1H(2013.08.29)
AR _ _ _ Higs S 2 ENM =1}
_I?_E N E’é}' ox §€'A7J—E— O|_.—| o i)
=TT WS =4 #x ZH(=) (2/min) (2) (70 /cm) o5
HZ| S0 X|H2
#1 71 &0k 9:20 ~ 10:00 | 10.36 411.64 0.0046 | ojgF
2 2E 1m o|uf
H7| S0 X|H2
42 9:22 ~ 10:02 | 10.32 408.69 0.0054 | ojgk
2 2ef im oly
FRIERESEE )
#3 9:25 ~ 10:05 | 10.35 411 .24 0.0047 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#4 9:27 ~ 10:07 | 10.37 412.03 0.0050 | ofgt
2 2ef 1m olu
H7| S0 X|H2
#5 9:30 ~ 10:10 | 10.33 410.45 0.0049 | o|g
2 2E 1m o|uf
H7| S0 X|H2
#6 9:34 ~ 10114 | 10.34 451.48 0.0046 | ojgt
2 2E 1m O|uf
HZ| S0 X|HS
#7 9:39 ~ 10:19 | 10.36 411.64 0.0052 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#8 9:43 ~ 10:23 | 10.32 410.05 0.0053 | ojgt
2 2E 1m O|uf
FHEREEE)
#9 9:50 ~ 10:30 | 10.36 411.64 0.0047 | ofg
2 2e 1m o|uf
H7| S0 X|H2
#10 9:52 ~ 10:32 | 10.31 409.65 0.0045 | olgt
2 2e 1m o|uf
_ H7| S0 X|H2
Hol2 | #11 - 10:40 ~ 11:20 | 10.34 409.48 0.0053 | ojgt
N 2 2ef 1m oLy
= H7| S0 X|H2
(22point)| #12 10:41 ~ 11:21 | 10.35 409.87 0.0046 | o|gF
2 2ef 1m oLy
H7| S0 X|H2
#13 10:45 ~ 11:25 | 10.33 409.08 0.0050 | ojgk
2 2ef 1m oLy
H7| S0 X|H2
wa |H7IE 10:49 ~ 11:29 | 10.36 410.27 0.0051 ojak
2 2e 1m o|uf
EHE=REE
#15 10:51 ~ 11:31 | 10.32 408.69 0.0046 | ojgk
2 2E 1m O|uf
HZ| S0 X|H2
#16 10:55 ~ 11:35 | 10.36 410.27 0.0053 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#17 10:57 ~ 11:37 | 10.34 409.48 0.0053 | ojgt
2 2E 1m o|uf
HZ| S0 X|H2
#18 10:59 ~ 11:39 | 10.36 410.27 0.0050 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#19 11:02 ~ 11:42 | 10.32 408.69 0.0046 | olgk
2 2E 1m o|uf
H7| S0 X|H2
#20 11:07 ~ 11:47 | 10.35 409.87 0.0053 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#21 11:57 ~ 12:37 | 10.34 406.77 0.0051 | ofg

2 2& 1m o|uf

EHECEREE
#02 12:02 ~ 12:42 | 10.31 405.59 0.0047 | ofgt

2 2e 1m o|uf
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# & ALEI(2013.08.29)

<sampling—#3>

a4

e
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<sampling—#4>
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<sampling-#10> <sampling-#11> <sampling-#12>
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<sampling—-#13>
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<sampling-#14>
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8. £X&1(2013.08.30)
AR _ _ _ Higs S 2 ENM =1}
=T S I &) (2/min) (2) (74 /cn) o0&
H7| S0 X2
#1 10:10 ~ 10:50 10.31 412.40 0.0049 o|at
2 2E 1m o|Lf
H7| S0 X|E2
#2 10:112 ~ 10:52 10.38 409.70 0.0047 o|gat
2 2E 1m o|Lf
H7| S0 X2
#3 10:15 ~ 10:55 10.31 412.40 0.0052 o|gat
2 2B 1m O|Lf
H7| S0 X|E2
#4 10117 ~ 10:57 10.37 414 .80 0.0054 o|at
2 25 1m O|Lf
H7| S0 X|HE 2
#5 10:20 ~ 11:00 10.33 413.20 0.0053 o|gt
Z2 25 1m O|Lf
H7| S0 X|HE2
#6 10:24 ~ 11:04 10.31 45017 0.0046 o|at
Z2 2E 1m O|Lf
H7| S0 X|HE2
#7 10:29 ~ 11:09 10.32 411.42 0.0050 o|gat
Z2 25 1m O|Lf
H7| S0 X|HE2
#8 10:33 ~ 11:13 10.33 411.82 0.0049 o|ot
2 2B 1m O|Lf
H7| S0 X|HE2
#9 10:40 ~ 11:20 10.35 412 .42 0.0055 o|ot
2 2E 1m o|Lf
H7| S0 X|HE2
#10 10:42 ~ 11:22 | 10.35 412.62 0.0049 | olgt
2 25 1m O|Lf
_ H7| S0 X2
HZ|= #11 o 11:30 ~ 12:10 10.34 408.12 0.0047 o|at
obx x| 5] 2 RE 1m ol
= H7| S0 X2
(22point)| #12 11:31 ~ 12:11 10.31 406.94 0.0051 o|gat
2 25 1m o[
H7| S0 X2
#13 11:35 ~ 12:15 10.39 409.90 0.0053 o|at
2 25 1m ol
H7| S0 X2
#14 11:39 ~ 12:19 10.32 407.33 0.0047 o|at
2 2E 1m o|Lf
H7| S0 X2
#15 11:41 ~ 12:21 | 10.33 407.73 0.0050 | olgt
Z2 2B 1m OfLf
H7| S0 X2
#16 11:45 ~ 12:25 10.34 407.92 0.0054 o|at
2 2B 1m O|Lf
H7| S0 X|H2
#17 11:47 ~ 12:27 10.37 409.31 0.0051 o|gt
Z2 25 1m O|Lf
H7| S0 X|HE2
#18 11:49 ~ 12:29 10.31 406.94 0.0047 o|at
Z2 2B 1m O|Lf
H7| S0 X|HE2
#19 11:52 ~ 12:32 10.32 407.33 0.0051 o|at
Z2 25 1m O|Lf
H7| S0 X|HE 2
#20 11:57 ~ 12:37 10.34 408.12 0.0053 o|gat
2 2E 1m OfLf
H7| S0 X|HE2
#21 12:47 ~ 13:27 10.35 408.52 0.0051 o|ot

2 2E 1m o|Lf

H7| S0 X|H2
#22 12:52 ~ 13:32 10.33 407.73 0.0050 o|gat

2 2E 1m o|Lf
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# % AFZI(2013.08.30)
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9. 54 Z1(2013.08.31)
A E _ _ _ Higs S 2 ENM =1}
H = N E’é}' o| % ;I-IALI'—E_ O|_.—| (=] o o
=TT WS =4 #x ZH(=) (2/min) (2) (70 /cm) o5
THENELER
w |H7IEOREEA ~ 10:10 | 10.34 414.99 0.0046 | ojgF
2 2E 1m o|uf
H7| S0 X|H2
s |H71E ~ 10:12 | 10.31 408.29 0.0053 | ofgt
2 2ef im oly
H7| 2o x| = o
4a |H7IEORRA ~ 10015 | 10.32 414.19 0.0050 | ojgk
2 2E 1m o|uf
FENEREE
pg |7IECEA ~ 10117 | 10.34 | 414.99 | 0.0046 | ojgt
2 2 im ol
RENEERER
g5 |TI7IEOREA ~ 10:20 | 10.32 414.19 0.0050 | ojgk
2 2E 1m o|uf
H7| S0 X|H2
46 10:30 ~ 11:10 | 10.38 453.22 0.0048 | o|g
2 2E 1m O|uf
HZ| S0 X|HS
#7 10:35 ~ 11:15 | 10.32 412.80 0.0051 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#8 10:39 ~ 11:19 | 10.36 411.44 0.0049 | ojgt
2 2E 1m O|uf
HZ| S0 X|H2
#9 10:43 ~ 11:23 | 10.35 411.24 0.0050 | olgk
2 2e 1m o|uf
H7| S0 X|H2
#10 10:45 ~ 11:25 | 10.32 410.05 0.0051 | olgt
2 2e 1m o|uf
_ H7| S0 X|H2
Ho2 | #11 - 11:30 ~ 12:10 | 10.35 409.68 0.0053 | olgt
ok 2 2ef 1m oLy
= H7| S0 X|H2
(22point)|  #12 ~ 12:11 | 10.37 410.67 0.0050 | ofg
2 2ef 1m oLy
H7| S0 X|H2
#13 11:35 ~ 12:15 | 10.32 408.69 0.0046 | ojgt
2 2ef 1m oLy
H7| S0 X|H2
wa |H7IE 11:39 ~ 12:19 | 10.36 410.27 0.0053 | ojoF
2 2e 1m o|uf
FHEEREE
ws |71E ~ 12:21 | 10.32 408.69 0.0047 | ojg
2 2E 1m O|uf
HZ| S0 X|H2
#16 12:30 ~ 1310 | 10.35 409.87 0.0045 | o|g
2 2E 1m o|uf
CHECEREE
#17 12:35 ~ 13:15 | 10.33 409.08 0.0053 | ojgt
= = im ol
FHEREED)
#18 12:38 ~ 1318 | 10.35 409.87 0.0051 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#19 12:40 ~ 13:20 | 10.34 409.48 0.0053 | ojgk
2 2E 1m o|uf
H7| S0 X|H2
#20 12:45 ~ 13:25 | 10.30 407.89 0.0050 | olgk
2 2E 1m o|uf
H7| S0 X|H2
#21 13:35 ~ 14:15 | 10.34 409.48 0.0047 | ofgt

2 2& 1m o|uf

EHECEREE
#002 13:40 ~ 14:20 | 10.33 409.08 0.0053 | ojgk

2 2e 1m o|uf
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# % AMZI(2013.08.31)
TR

[l Wit ._ - ;
<{sampling—-#2> <sampling—#3>

b

<sampling—-#5> <sampling-#6>

2 -

<sampling—#8>

<sampling-#10> <sampling-#11> <sampling-#12>




<sampling-#16> <sampling—#17>

<sampling-#21>

<samplmg #22>
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10. 4 Z1(2013.09.01)
A E _ _ _ Higs S 2 ENM =1}
_I?_E N ;Io-l ox §€'A7J—E— O|_.—| o i)
=T ws 1= ZHE) | (ymin) (0) H/ar) | of%
EHETEER R
#1 718 10:10 ~ 10:50 | 10.31 41519 0.0050 | ojgF
2 2E 1m o|uf
FHEN=REE
42 10112 ~ 10352 | 10.35 411.24 0.0046 | o|gF
2 2e 1m o|uf
H7| S0 X|H2
#3 10115 ~ 10:55 | 10.30 414.78 0.0052 | ofg
2 2 im ol
H7| S0 X|H2
#4 1017 ~ 10557 | 10.32 415.59 0.0046 | ojgt
2 2E 1m o|uf
H7| S0 X|H2
#5 10:20 ~ 11:00 | 10.34 416.39 0.0053 | ojgt
2 2E 1m o|uf
H7| S0 X|H2
w |1E 11:10 ~ 11:50 | 10.31 450.17 0.0046 | o|gF
2 2E 1m O|uf
HZ| S0 X|HS
#7 11:15 ~ 11:55 | 10.34 414.99 0.0049 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#8 11:19 ~ 11:59 | 10.32 410.05 0.0045 | olgk
2 2E 1m O|uf
HZ| S0 X|H2
#9 11:23 ~ 12:03 | 10.36 411.64 0.0046 | olgk
2 2e 1m o|uf
H7| S0 X|H2
#10 11:25 ~ 12:05 | 10.32 410.05 0.0047 | ofg
2 2e 1m o|uf
_ H7| S0 X|H2
Hol2 | #11 - 12:10 ~ 12:50 | 10.38 412.43 0.0052 | ojgt
ok 2 2ef 1m oLy
B H7| S0 X|H2
(22point)|  #12 12:41 ~ 12:51 | 10.37 412.03 0.0054 | ofg
2 2ef 1m oLy
FHEN=REE
#13 12:15 ~ 12:55 | 10.34 410.84 0.0050 | ojgk
2 2ef 1m oLy
FHEN=REE
#14 12:19 ~ 12:59 | 10.33 410.45 0.0049 | ofg
2 2e 1m o|uf
H7| S0 X|H2
#15 12:21 ~ 13:01 | 10.32 410.05 0.0053 | ojgt
2 2E 1m O|uf
HZ| S0 X|H2
#16 13:10 ~ 13:50 | 10.35 411.24 0.0049 | o|g
2 2E 1m o|uf
H7| S0 X|H2
#17 13:15 ~ 13:55 | 10.32 410.05 0.0051 | ofg
2 2E 1m o|uf
CHECERER
#18 13:18 ~ 13:58 | 10.35 411 .24 0.0052 | ofg
= 2 im ol
FHEREED)
#19 13:20 ~ 14:00 | 10.35 411.24 0.0045 | olgt
2 2E 1m o|uf
H7| S0 X|H2
#20 13:25 ~ 14:05 | 10.31 409.65 0.0054 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#21 14:10 ~ 14:50 | 10.33 410.45 0.0051 | ofg

2 2& 1m o|uf

H7| S0 X|H2
#02 14:15 ~ 14:55 | 10.36 411.64 0.0049 | ojgt

2 2e 1m o|uf
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= T s RS
] | L5




:
S

<{sampling-#16>

<{sampling-#19>
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<sampling-#17>
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11. £X3Z1(2013.09.02)
A E _ _ _ Higs S 2 ENM =1}
_I?_E N E’é}' ox §€'A7J—E— O|_.—| o i)
=T ys | 59 A 2= min) () H/or) | of=
R EERREE
#1 718 16:10 ~ 16:50 | 10.33 409.08 0.0054 | ojgF
2 2E 1m o|uf
H7| S0 X|H2
42 16:12 ~ 16:52 | 10.32 408.69 0.0046 | ojgk
2 2e 1m o|uf
FRIERESEE )
#3 16115 ~ 16:55 | 10.36 410.27 0.0047 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#4 16:17 ~ 16:57 | 10.33 409.08 0.0051 | ojgt
2 2E 1m o|uf
H7| S0 X|H2
#5 16:20 ~ 17:00 | 10.35 409.87 0.0046 | o|g
2 2E 1m o|uf
H7| S0 X|H2
#6 16:24 ~ 17:04 | 10.31 45017 0.0046 | ojgt
2 2E 1m O|uf
HZ| S0 X|HS
#7 16:29 ~ 17:09 | 10.36 410.27 0.0053 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#8 16:33 ~ 17:13 | 10.31 408.29 0.0046 | olgk
2 2E 1m O|uf
HZ| S0 X|H2
#9 16:40 ~ 17:20 | 10.36 410.27 0.0046 | olgk
2 2e 1m o|uf
H7| S0 X|H2
#10 16:42 ~ 17:22 | 10.34 409.48 0.0047 | ofg
2 2e 1m o|uf
_ H7| S0 X|H2
Hol2 | #11 - 17:20 ~ 18:00 | 10.34 409.48 0.0049 | olgt
ok 2 2ef 1m oLy
5 EHET==ENEE N
(22point)| #12 17:21 ~ 18:01 | 10.33 409.08 0.0054 | ofg
2 =ef 1m ol
7| 2oFE x| H o
#13 17:25 ~ 18:05 | 10.31 408.29 0.0050 | ojgk
2 2ef 1m oLy
H7| S0 X|H2
#14 17:29 ~ 18:09 | 10.36 410.27 0.0049 | ofg
2 2e 1m o|uf
ERET==ENEE L)
#15 17:31 ~ 1811 | 10.32 408.69 0.0051 | ojgt
= el 1m ol
HZ| S0 X|H2
#16 17:35 ~ 18:15 | 10.33 409.08 0.0050 | ojgt
2 2E 1m o|uf
H7| S0 X|H2
#17 17:37 ~ 1817 | 10.35 409.87 0.0053 | ojgt
2 2E 1m o|uf
HZ| S0 X|H2
#18 17:39 ~ 18:19 | 10.36 410.27 0.0047 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#19 17:42 ~ 18:22 | 10.33 409.08 0.0050 | olgk
2 2E 1m o|uf
H7| S0 X|H2
#20 17:47 ~ 1827 | 10.31 408.29 0.0054 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#21 18:37 ~ 19:17 | 10.32 408.69 0.0051 | ojgt

2 2& 1m o|uf

H7| S0 X|H2
#02 18:42 ~ 19:22 | 10.36 410.27 0.0047 | ofgt

2 2e 1m o|uf
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#3 AMEI(2013.09.02)

<sampling-#4> <sampling—-#5> <sampling-#6>
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. b

i

<sampling-#10> <sampling-#11> <sampling-#12>




<sampling-#13> <sampling-#14>
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<sampling—#15>
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<sampling-#22>




A

0%

d0
0= rg oA

iz
o

]
I

0k

2
o

b
)
2

N
Kl

ol
=0

[
all

_

10

1
==

ey ThsEl

=]
o — T
0

oto| 2| i

el Al M 38 (At

GIt= AT,

ANEAM XH,

.0046~0.00547H

o XI=

Ho T

XFod X}
A
Cl

m3

H

[=]



12. £X2Z1}(2013.09.03)
A E _ _ _ Higs S 2 ENM =1}
_I?_E N ;Io-l ox §€'A7J—E— O|_.—| o i)
=% |y I 2= min) () H/or) | of=
THENELER
#1 i 15110 ~ 15350 | 10.32 411.42 0.0045 | ojgF
2 2E 1m o|uf
R T==ENEe L)
42 15112 ~ 15:52 | 10.29 410.22 0.0054 | ofg
2 2ef im oy
FRIERESEE )
#3 15:15 ~ 15:55 | 10.36 413.01 0.0051 | ofg
2 2E 1m o|uf
FRIERESEE )
#4 1517 ~ 15:57 | 10.35 412.62 0.0046 | o|g
2 2E 1m o|uf
H7| S0 X|H2
#5 15:20 ~ 16:00 | 10.32 411.42 0.0047 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#6 15:24 ~ 16:04 | 10.35 451.91 0.0049 | ofg
2 2E 1m O|uf
EHEN =R
#7 15:29 ~ 16:09 | 10.34 412.22 0.0049 | ofg
2 2E 1m o|uf
EHEN =R
#8 15:33 ~ 16:13 | 10.33 411.82 0.0050 | olgk
2 2E 1m O|uf
HZ| S0 X|H2
#9 15:40 ~ 16:20 | 10.36 413.01 0.0051 | olgt
2 2e 1m o|uf
H7| S0 X|H2
#10 15:42 ~ 16:22 | 10.34 412.22 0.0049 | ojgt
2 2e 1m o|uf
_ H7| S0 X|H2
Hol2 | #11 - 16:20 ~ 17:00 | 10.33 411.82 0.0046 | olgk
ok 2 2ef 1m oLy
B H7| S0 X|H2
(22point)| #12 16:21 ~ 17:01 | 10.32 411.42 0.0050 | ofg
2 2ef 1m oLy
H7| S0 X|H2
#13 16:25 ~ 17:05 | 10.32 411.42 0.0045 | o|g
2 2ef 1m oLy
H7| S0 X|H2
#14 16:29 ~ 17:09 | 10.35 412.62 0.0052 | ofg
2 2e 1m o|uf
H7| S0 X|H2
#15 16:31 ~ 17211 | 10.31 411.02 0.0050 | ojgk
2 2E 1m O|uf
HZ| S0 X|H2
#16 16:35 ~ 17:15 | 10.36 413.01 0.0054 | o|g
2 2E 1m o|uf
H7| S0 X|H2
#17 16:37 ~ 1717 | 10.32 411.42 0.0050 | ojgt
2 2E 1m o|uf
HZ| S0 X|H2
#18 16:39 ~ 17:19 | 10.36 413.01 0.0051 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#19 16:42 ~ 17:22 | 10.37 413.41 0.0053 | ojgk
2 2E 1m o|uf
H7| S0 X|H2
#20 16:47 ~ 17:27 | 10.32 411.42 0.0050 | ofg
2 2E 1m o|uf
H7| S0 X|H2
#21 17:37 ~ 1817 | 10.32 411.42 0.0047 | ofgt

2 2& 1m o|uf

H7| S0 X|H2
#02 17:42 ~ 1822 | 10.36 413.01 0.0050 | olgk

2 2e 1m o|uf
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# 3 AHZEI(2013.09.03)

<sampling—#1>
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13. £X4Z1(2013.09.04)
A E _ _ _ Higs S 2 ENM =1}
=T ws ik =) min) ) H/or) | of=
#1 5 disk 8:30 ~ 12:30 10.35 2,475.69 0.0015 o|at
#2 A dbsk 8:32 ~ 12:32 10.32 2,468.52 0.0013 o|gat
x|

ZANM

(4point)

#3 = disk 13:30 ~ 17:30 10.33 2,479.20 0.0013 o|gat

#4 = disk 13:35 ~ 17:35 10.31 2,474.40 0.0014 o|gat

#5 Al Q| #1 8:40 ~ 10:40 10.34 1,244 .98 0.0026 o|at

SRS

o

(2point)

#6 Al Q|#2 13:40 ~ 15:40 10.36 1,243.20 0.0029 o|at

QP2 EE

#7 B 8:45 ~ 9:25 10.33 415.99 0.0042 o|at

214 | fmolt

ol

(2point) SEE YIS

#8 13:45 ~ 14:25 10.34 413.60 0.0051 o|at

1mo]|Ly
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#Z AHEI(2013.09.04)

<sampling—#4> <sampling-#5>
| BT W T

<sampling—#6>

N,

<sampling-#8>

<sampling—#7>

> SHZT| wE Sateld

1. Bl B}
Mot shE 2 M R B ALY Jbseh BXIZAN XM, HARFH XF,
SlMMEYT XIF M5 SHAT0| 25 0.0018~0.00517H /a2 SHEUL
0 BT MRS 87| F (MBI BRY ABY FIBE(AYTTHE MBS

ok
N
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g
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08!
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14, £3Z41H(2013.09.05)
A E _ _ _ Higs S 2 ENM =1}
_I?_E N ;Io-l ox §€'A7J—E— O|_.—| o i)
=T ws 1=l IZHE) | (Gymin) (1) OHfar) | 0%
#1 Al gbek 9:00 ~ 13:00 10.31 2,491.12 0.0013 o gt
#2 = gksk 9:03 ~ 13:03 10.36 2,503.20 0.0015 o|gt
£X|

AAHM

(4point)

#3 S grak 13:10 ~ 17:10 10.33 2,479.20 0.0013 o|gt

#4 = 13:115 ~ 17:15 10.34 2,481.60 0.0014 o| 3t

#5 A 2#1 9:10 ~ 11:10 10.35 1,250.39 0.0025 o| 2k

Zhed &

F

(2point)

#6 A 2#2 13:30 ~ 15:30 10.33 1,239.60 0.0029 o2k

Ol AHAdH

AT #7 9:05 ~ 9:45 10.32 419.84 0.0051 o gt

, 1mo|Ly

(1point)
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#Z AHEI(2013.09.05)

<sampling-#1>

<sampling—#6>

2Pl we Sl

SEEECIER]

Mot shE 2 M R B ALY Jbseh BXIZAN XM, HARFH XF,
SlMMEYT XIF M5 SHAT0| 25 0.0018~0.00517H /a2 SHEUL
0 DF MBS ST F(MHIHBRIY AYY MIBEARTFTHE Hoiu) 55

ok
N
@
o
o
Q
AN |
=
g
o
ra
|0
HU
1
X T
08!
\N|
m
39
a



15. X Z1(2013.09.06)

IN'

%t

)

A

JI)II

~
S

}OI'FFLI

=
T

(=]
L

{

(

/-\_I

rEz

II
09£

#1 9:00 ~ 13:00 10.35 2,517.80 0.0014

0

II
09£

#2 9:03 ~ 13:03 10.32 2,510.50 0.0013

_HE
0

£2X|
AAM
(4point)

II
09£

#3

OHT

9:06 ~ 13:06 10.31 2,508.07 0.0014

0

.,_
|I

051'

#4

nr

9:110 ~ 13:10 10.35 2,517.80 0.0015

0

0?:

—Umi

—lO

AFZHE
1m O|LH

119

#5 9:20 ~ 10:00 10.37 423.32 0.0042

(1point)

SA7|S7IHET

[e]
#6
0.3~1TmoJuy

11:00 ~ 11:40 10.33 418.82 0.0045

Io

2+71

)

(2point)

=&

S7| &

#7
3~1mo]h

14:20 ~ 15:00 10.35 418.21 0.0052

H7[|=
HhE
(1point)

H7|= gh&ETol

ofet
M 1m Ofuf

#8 15:30 ~ 16:10 10.33 417.40 0.0050




=X 9% =(2013.09.06)
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# & AFEI(2013.09.06)

&
Fad

<sampling—#4> <sampling-#5>

] e 11 — T

v

<sampling—#6>

<sampling—#7> <sampling-#8> -

> SHZ3o uE SetelH

1. &9 gut
AME oA 2 A Y S ov[MEY JhsE FXEAM XY, HEEFEH XE,
AYMEAT XNE MHsE FYZ2ol 2lsif 0.0013~0.00527 /2 SEH=AU2
o 25 MHEESHST|E(MH Y AlHH HI8=(AAEFH Muuf =5

ok
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16. X Z1}(2013.09.07)
_ HOoAa o at =M X 1
g8 N zyem | smamg) ¥TUS) RE | S8sT ) 2
HS (4/min) (1) (0 /cm) 015
H7| 20X EHo 2
#1 o1& | 10:00 ~ 10:40 10.37 420.44 0.0050 o] gt
£ 1m ol
THEN R
o [H71EORA 10:02 ~ 10:42 10.32 415.59 0.0045 oj gt
£ 1m o[l
H7| 20X EHoZ
#3 7= | 10:05 ~ 10:45 10.35 419.63 0.0051 ojet
£ 1m ol
H7|20bxX| Mo 2
e [A1ECH 10:07 ~ 10:47 | 10.35 419.63 0.0046 | olgt
£ 1m ol
THEN R
ps  |H7IE0REX] 10:10 ~ 10:50 10.34 419.23 0.0049 o gk
£ 1m o[
H 7| 20X EHo 2
#6 7= | 10:13 ~ 10:53 10.31 450.17 0.0049 ojgt
£ 1m ol
THEN R
47 I7I=oPsAl 10115 ~ 10:55 10.32 418.42 0.0045 ojgk
£ 1m o[
H7|20kxR| Moz
4w |TIE 10:18 ~ 10:58 10.38 420.85 0.0051 oj gt
FE 1m oluf
H 7| S0 X|HoZ
#9 I71= 0k 10:20 ~ 11:00 10.35 419.63 0.0046 ojet
£ 1m ofulf
H7| 20X EHo 2
#10 |7|=0f 10:24 ~ 11:04 10.34 419.23 0.0045 ojak
£ 1m ol
H7| 20X Ho 2
#1 |b|,§ | 11:14 ~ 11:54 | 10.32 415.59 0.0050 | olgt
H7|e £ 1m o[l
CHENEREEE
OFMX|H | #12 11:18 ~ 11:58 10.35 416.80 0.0053 ojet
: £ 1m o[
(23point) Ho|2opdxI ez
#13 11:19 ~ 11:59 10.34 416.39 0.0049 ojet
e 1m oluf
H7|2olHx|Ho 2
P 11:21 ~ 12:01 10.35 416.80 0.0053 oj gt
2E{ 1m o|Lf
H7| 20l R| Mo 2
s |H7IEOREA 11:22 ~ 12:02 10.32 415.59 0.0046 oj gt
£E 1m ol
HI| S0 XHo 2
o |H7IEOREA 11:24 ~ 12:04 10.31 415.19 0.0049 oj gt
e 1m ol
H7|SolHA|Ho 2
P 11:29 ~ 12:09 10.35 416.80 0.0052 oj gt
2E{ 1m o|Lf
H7| 20X Mo 2
#18 7120k ] 11:31 ~ 12111 10.31 415.19 0.0046 ol
£E 1m ol
HI7| S0 XHe 2
s1g |H7IE0HRA 11:33 ~ 12:13 10.32 415.59 0.0050 oj gt
e 1m ol
H7| S0 X|EHoR
po |M7'E 11:36 ~ 12:16 10.33 415.99 0.0046 oj gt
£E 1m o|ulf
H7| 20kxX|H o=
o1 171= 12:26 ~ 13:06 10.35 414.00 0.0045 ojgk

£E 1m ol

H7|SoHX|IEHoR
4o |H71E 12:29 ~ 13:09 10.38 415.20 0.0052 o] ot

e 1m oluf
H7| S0 X|EHoR
403 1712 12:31 ~ 13:11 10.34 413.60 0.0046 ojgt
£E 1m ol
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<sampling—#1> <sampling-#2> <sampling—#3>
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<sampling-#4>

<sampling-#10> <sampling-#11> <sampling-#12>
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17. £XZ14(2013.09.08)
= HASS SRg=TS EXMEo X1
HS (2/min) (2) (70 /cm) o &£
Ao ZoFAE S
#1 o1& 9:00 ~ 9:40 10.30 419.03 0.0051 oot
2el 1m o|uf
FHET=REEE
#o o1& 9:02 ~ 9:42 10.36 415.80 0.0050 oj ot
2el 1m o|uf
Bl 20K o2
#3 9:05 ~ 9:45 10.35 421.06 0.0048 o| g
2el 1m o|uf
H7| 20Xz
wa |M1E 9:07 ~ 9:47 10.36 421.47 0.0045 oot
2el 1m o|uf
7|20 Ko 2
N 9110 ~ 9:50 10.32 419.84 0.0051 o| g
2el 1m o|uf
ol 2orxgo 2
w | 1E 9113 ~ 9:53 10.30 449 73 0.0047 o| g
2el 1m o|uf
H7|EorRIH o=
o |W1E 915 ~ 955 10.35 421.06 0.0046 ojat
2el 1m o|uf
720K o2
#8 9118 ~ 958 10.32 419 .84 0.0044 o| g
2el 1m o|uf
Bl 20X o2
4w |1E 9:20 ~ 10:00 10.35 419.63 0.0045 o| g
2el 1m o|uf
H7| 20Xz
#10 9:24 ~ 10:04 10.34 419.23 0.0051 o| gt
2el 1m o|uf
ol 2orxIg o2
#11 'f 10:14 ~ 10:54 10.36 415.80 0.0053 o| gt
o7 wE m Ol
R REEE
OFE K| | #12 10118 ~ 10:58 10.33 414.59 0.0050 o| gt
, FE 1m oluf
(23point) BolgopHrIpo 2
#13 10119 ~ 10:59 10.31 413.79 0.0052 o| g
2E 1m ol
H7|20MX|He R
#14 10:21 ~ 11:01 10.36 415.80 0.0050 o| o
Hel 1m oLy
FEIERE=R
#15 10122 ~ 11:02 10.32 414.19 0.0046 o| o
2E 1m ol
H7|20MX|He R
#16 10:24 ~ 11:04 10.35 415.39 0.0045 o| g
Hel 1m ouf
o 2opaRg o2
#17 10:29 ~ 11:09 10.32 41419 0.0053 o| ot
2E 1m ol
H7|20MX|He R
#18 10:31 ~ 11:11 10.34 414.99 0.0046 o| g
Hel 1m ofuf
o 2opaR|H o2
#19 10:33 ~ 11:13 10.36 415.80 0.0050 o| o
2E 1m ol
H7|20MX|He R
#20 10:36 ~ 11:16 10.37 416.20 0.0052 o| gt
Hel 1m oLy
o 2opaR|g o2
#21 11:26 ~ 12:06 10.31 411.02 0.0046 o| gt

2E 1m ol

H7|20MX|He R
#002 11:29 ~ 12:00 10.34 412,22 0.0051 o| o

Hel 1m oLy
o 2opaRg o2
#23 11:31 ~ 12:11 10.36 413.01 0.0053 o| g
Hel 1m oLy
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18. £XZ1}(2013.09.09)
A E _ _ _ Higs S 2 ENM =1}
=T | ws 1=l IZHE) | (Gymin) (1) Oh/ar) | of
#1 = ek 8:30 ~ 12:30 10.30 2,497.14 0.0013 o gt
#2 5 sk 8:33 ~ 12:33 10.35 2,509.26 0.0014 o|gat
#3 Al HbsE 10:20 ~ 14:20 10.32 2,501.99 0.0013 o|at
£X|
AAM
(6point)
#4 = ebek 10:25 ~ 14:25 10.37 2,514.11 0.0014 o|gat
#5 5 ek 14:30 ~ 18:30 10.35 2,492.36 0.0015 o|gat
#6 =S ek 14:33 ~ 18:33 10.35 2,492.36 0.0013 o|gt
#7 A2l 8:45 ~ 10:45 10.31 1,254.03 0.0025 o|gt
ES PNy
= #8 Al 2#2 11:10 ~ 13:10 10.32 1,246.77 0.0029 o|gat
(3point)
#9 A QI#3 14:50 ~ 16:50 10.34 1,244.98 0.0026 o|gt
AT EZFEH
#10 v 8:40 ~ 9:20 10.33 420.25 0.0051 o|gat
1mo|Ly
@] AH
Hagl ol 72 B
e #11 Tmolul 11:00 ~ 11:40 10.36 417.20 0.0046 o|gat

m
(3point)

LT EZFEH
#12 v 14:40 ~ 15:20 10.33 414.59 0.0049 o|ot

1mo|LH
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19. £3Z14(2013.09.10)

NS ) . ) Hass 2 2t =x=z | =13}
=T s | 59 SA IZE) | min) (0) GN/or) | of=
#1 = sk 9:12 ~ 13:112 10.35 2,475.69 0.0014 o gt
#2 Lt st 9:20 ~ 13:20 | 10.33 2 470.91 0.0013 o|gt
x|
ZAHNM
(4point)

#3 = ubst 9:27 ~ 13:27 | 10.32 2 468.52 0.0015 o|gt
#4 M bst 9:35 ~ 13:35 | 10.35 2 475.69 0.0013 o| gt

Atolzy

o #5 Ao 10:29 ~ 12:29 | 10.32 1,226.06 0.0030 o| gt

(1point)

AT ZHE

#6 N 9:42 ~ 10:22 | 10.33 414.59 0.0043 o|gt

<4 Adu| fm ol

27

(2point) ol e

I T 2 FE

#7 v 12:45 ~ 13:25 | 10.37 410.67 0.0053 o| gt

1m OfLH
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#Z AHEI(2013.09.10)
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<sampling-#3>

<sampling-#1>

<sampling—#4> <sampling—#6>

> YT wtE Sl

1. Bl B}
Mot siH 2 M Rt B ALY JHSE RRZAM XW, HUBFH RF,
SlMMEYT XIF M5 SHAT0| 25 0.0018~0.00537H /a2 SHEUL
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ok
N
@
o
(@)
Q
AN |
=
g
o
ra
|0
HU
1
X T
08!
\N|
m
39
ul



20. EMZA12013.09.11)

FE 1m ol

g2 =2 AR ~
= = =X o|x - -
S =3 9| = A|ZHE) ‘fﬁ?’rﬁ%— S 2 =x=c | =1
=== 2/min el s
# HENERNEEE ) ) (2) (70 /cw) 0f &
2E 1m Ol 6:50 ~  7:30 10.34 "6
40 H7|SolEAHOZ -39 0.0050 olat
£E 1m O|uf 703~ 7:43 10.32 411
43 H7|SoxHoz 42 0.0052 ojot
2El 1m olu 712~ 782 10.38 4
4 FHENEREEE] 8.01 0.0053 olot
2E 1m ofu 7:24 ~ 804 10.31 a1
#5 H7| 20X x| Aoz 5.19 0.0046 o|ot
=& 1m olu 738 ~ 818 10.35 "
#6 H7 20K EHOZ 6.80 0.0053 olof
2E 1m ofu 752~ 8182 10.34 451
47 H7 20RO Z -48 0.0043 ojat
2El 1m olu 8:07 ~ 847 10.32 2
48 H7 20K EHO 2 5.59 0.0046 o|at
£E{ 1m ouf 819 ~ 8159 10.32 a1
49 H7 20K EHOZ 5.59 0.0053 ojat
2E 1m o|uf 8:31 ~ 911 10.34 21
#10 H7|SopxHe R 699 0.0049 o| gt
SEf 1m Ol 8146 ~  9:26 10.36 41
#11 H7|SopxIHe R 580 0.0049 o| gt
2E 1m o|uf 912  ~ 952 10.32 414
#12 H7|SopHxHe R 1 0.0052 o| gt
2E{ 1m O|Lff 9:24 - 10:04 10.31 21
#13 H7|2oHX|Hez 379 0.0047 o|gt
2E 1m oLy 9:32 ~ 10:12 10.34 2
#14 H7|SopxIHe R 499 0.0049 o| gt
H2|= £E 1m o[y 9:46  ~ 10:26 10.34 41
oK | g5 | AIEoMAESZ 99 0.0052 ole
. o 959 ~ 10:
(29p0int) _ 2E{ 1m ol 9 10:39 10.36 415.86
#16 H7|SotNX|Ho 2 : 0.0050 o|of
=& 1m olu 10:25  ~  11:05 10.33 414
#17 H7[2ofNAEHO 2 59 0.0053 ojat
25 1m ol 10:38  ~ 11:18 10.37 416
18 o7 2ofNAEHO 2 20 0.0049 ojat
= 10: ~ .
_#E 1m ol 52 11:32 10.31 413.79
#19 JﬂDI%OkE,ngQE : 0.0049 |:|||:|J.
_#E 1m ol 11:06  ~ 11:46 10.32 41419
#90 111|7|EO|:E|X|§2§ : 0.0054 |:|||:|J.
= 11: ~ .
_2E 1m oIy 19 11:59 10.35 412 62
401 H7| 20X &Ho 2 : 0.0049 ojot
11: ~ .
e 1m oY 32 12:12 10.32 411.42
400 H7|20MX|HEoZ : 0.0052 olat
__®E{ Im olYf 11:49  ~  12:29 10.31 411.02
403 HJ| 20X x| Eo 2 : 0.0047 o|ot
12: ~ .
_ HE 1m oW 12 12:52 10.34 412 92
ypg | H7IBOHAEoR ‘ 0.0045 ojgt
_2Ef 1m oIy 12:25 ~  13:05 10.31 211,02
405 H7|20tMX|HEoZ : 0.0052 o| ot
12: ~ .
__E Im ol % 13:19 10.35 412.62
496 HI| 20X x| Eo 2 : 0.0050 o| ot
13: ~ .
_ FE{ 1m 0L} 52 14:32 10.32 411.42
407 HI| 20X X|Eo 2 : 0.0053 o| ot
_ %:Ei 1m oLl 14113~ 14153 10.31 411.02
408 Jﬁ|7|§o|:ﬁ,x|7gg§ : 0.0051 |:|||:|J.
=] 14: ~ .
__TE Im ot i 15:07 10.36 413.01
#99 Jﬁ|7|§o|:ﬁ,x|§9§ : 0.0046 |:|||:|J.
14:40 ~ 15:20
: 10.34
412.22 0.0052 alat
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#E AHZI(2013.09.11)

N
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N S NS
v;gﬂ"‘"ﬁ i)

L 25

<sampling—#1> <{sampling—-#2>

.

<sampling-#10> <sampling-#11> <sampling-#12>




<sampling—#15>

<sampling-#22> <sampling-#23> <sampling-#24>




<sampling—#27>

<sampling-#28>

5Pl utE Soreld

S EEECIE=P]

M A 2 A A B ALY TS SXAAM KM, HARFY XH,
SIMAME|T XIF MBET SHAD s 0.0043~0.00547/ar2 SHEAUS
0 BE ATHE5 87| E (AT B AYY MIBZ(ARTTH Meiu)Es

ok
N
@
o
(@)
Q
=
~
g
o
ra
|0
HU
1
X T
0kl
\N|
m
39
a



